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SA FRMEXED
B SN2 AAL| (FOMSRD)
el |2 Crol @ El)
SN HE - SI(E) - NRAY - BES &k oy e =2
L 22,200 19,080 3,120
o= 22,200 19,080 3,120
201 2oy 9,720 8,520 1,200
01 AREE 9,720 8,520 1,200
O BA2Y LBSIHI(+8, 22 S) 50,0008 * 13% » 128 7,800
O Mg, BX PSS 60,0002 * 122 1,920
202 OfHl 12,480 10,560 1,920
01 Rhoit 12,480 10,560 1,920
O SBUY +8S I2YLFT0Y| 80,0008 * 13% » 122 12,480
Wegs(Zousxs 451,650 487,759 £36,109
VESIEDE 451,650 487,759 £36,109
SEETVEEEPIRSES: 451,650 487,759 £36,109
701 JIEEHEES 451,650 487,759 A36.,109
01 JIEISIHEES 451,650 487,759 £36,109
SICEEREEEPIRSES 451,650
- o220 WEH| 434,868,002 434,868
- AYMERNYIY AHEZH| 5.924
- UE3 ¥ =2uRg3ss3 520
- ZojoEET S0iH| 3,028
- sERAY 1,900
- CZS0AY S| 5,410
PES(FUMBNED) 100,000 100,000 0
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=] XN xH cCtel (s =] H HA X OH @L‘jl‘:— =2}
_I_}\—I a2 . JT'(QI}I) ° k”—l—/\l'\:s LR O:H/QI'—, 0:||/\|-0H S o
LHEHHXI = 100,000 100,000
MN3IZ2X Dz HNES 100,000 100,000
02 JISdE=S 100,000 100,000
01 JI=sd&E3s 100,000 100,000
O Ma=EX JISsdEEs 100,000
- Atgl =Xl 50,000,000 50,000
- =X 50,000,000 50,000
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